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Match #20


These questions are for use in the Virginia High School League’s Scholastic Bowl competition at the District level. Shawn Pickrell, Jason Mueller, Marian Suter, Adam Fine and Dan Goff are the authors of these questions.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Release of these questions to any entity not affiliated with the District competition or the schools that are members of the given District, without prior approval of Shawn Pickrell, is prohibited. This is meant to keep question security.

(b)
The discussion or other reference to these questions with other entities in the Commonwealth of Virginia that are associated in any way with the Scholastic Bowl competition before all District champions have been determined is prohibited. This is also meant to keep question security.

(c)
These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means.
First period: 15 tossups, 10 points each

1. 
Only 11 of the 42 sailors on board the vessel joined Fletcher Christian. The ship's captain, William Bligh, was put off in a dinghy and sailed 3,000 miles with only a sextant and a pocket watch to land on Timor. What was this British ship on which a famous mutiny occurred in 1787?

ANSWER: His Majesty's Armed Vessel (HMAV) Bounty
2. 
THIS IS A COMPUTATION QUESTION. What is the slope of the line 3x + 4y equals 20?

ANSWER:  -3/4
3. 
A Chelan County judge ruled in June 2005 that a re-vote could not be ordered in this state, even though the loser, Dino Rossi, expressed concerns about ballot and election integrity.  Christine Gregoire was ultimately elected by 129 votes in what Northwestern state?

ANSWER: Washington
4. 
Most Americans regard this temperature as uncomfortable if it reaches over 70 degrees. When it is closer to the actual air temperature, relative humidity is higher. What temperature is the temperature for a given block of air at which water vapor will condense into water? 

ANSWER: dew point
5. 
When Wally and pregnant Candy visit the orphanage, Dr. Larch provides a medically safe, albeit illegal, abortion. Homer leaves with them to work on Wally's family apple farm. Wally goes off to war, leaving Homer and Candy alone together. This is a plot summary of what John Irving novel?

ANSWER:  The Cider House Rules

6. 
They, along with leptons, are the two basic components of matter in the modern Standard Model. They never appear free, but always as part of a hadron, like a meson, neutron or proton. What are these particles that come in six varieties, which include charm, strange, top, bottom, up and down?

ANSWER: quarks

7. 
The Salafists, who wish to return to 7th century Islam, and the Wahhabis, who dominate Saudi Arabia, are the most extreme forms of this branch of Islam. When civil war broke out between Ali and Muawiyah [moo-ah-WIH-yah] in the late 7th century, the followers of Muawiyah became what dominant branch of Islam?

ANSWER: Sunnis

8. 
He was a line superintendent for the Pennsylvania Railroad and bought a farm that yielded millions of dollars of oil. He built a steel empire whose most serious challenge was the 1892 Homestead Strike, and then sold everything to J.P. Morgan in 1901 for $250 million dollars. What steel magnate then spent the remaining eighteen years of his life giving his money away to a variety of charitable causes?

ANSWER: Andrew Carnegie
9. 
This historical romance concerns the life of a fictional Saxon knight who returns to England from the Crusades and is disinherited by his father for falling in love with Rowena, who was engaged to another. He travels in disguise, wins a knightly tournament, accepts the prize from Rowena, and they are finally married. Name this work written by Sir Walter Scott.

ANSWER: Ivanhoe
10. 
He is the personal torturer and educator who explains why the protagonist must accept his lot in the world of Big Brother. Name this member of the Inner Party who leads Winston and Julia to conspire against the Party and discovers all their rebellious acts and thoughts in George Orwell's Nineteen Eighty-four.

ANSWER: O'Brien
11. 
In this film, Chiwetel [chih-weh-TEL] Ejiofor [ay-JEE-oh-for] plays the bad guy, an Operative working for the Alliance.  It is his job to capture River Tam, a girl with psychic abilities who hides out on a ship with her brother Simon.  Identify this 2005 movie directed by Joss Whedon, starring Nathan Fillion as Captain Malcolm Reynolds, and based on the short-lived TV show Firefly.

ANSWER:  Serenity (DO NOT ACCEPT Firefly)

12. 
In England, if one could avoid capture for a year and a day, one could obtain freedom. In Russia, however, the system was far harsher and was not abolished until 1861. In most places, they could not be bought and sold, save with the land to which they were attached. What was this lowest class in the feudal system?

ANSWER: serfs (do not accept peon) or serfdom
13. 
Name the author of such works as To a God Unknown, The Wayward Bus, In Dubious Battle, and East of Eden.

ANSWER: John Steinbeck
14. 
This novel features three storylines:  Professor Bartolomew Rossi's trip to Eastern Europe in 1930, his student Paul's trip to Istanbul in the 1950s, and Paul's daughter Elise's trip to France in 1972.  Elise tells the story as a first-person account, written down in 2008.  What novel about the search for the real Dracula is a bestseller - not bad for its first-time author, Elizabeth Kostova?

ANSWER:  The Historian
15. 
What are the two pyrimidine [pee-rih-MY-deen] bases of DNA?

ANSWER:  thymine and cytosine
Second period, 10 directed questions per team, 10 points each

Questions with an “A” after their number will be read to the team that selects set A of questions; questions with a “B” after their number will be read to the team that selects set B of questions.

1A. 
What is the term in English grammar for those words that accompany the main verb?

ANSWER: auxiliary or accept helping
1B. 
What rebellion in 1857 by Indian soldiers against their British colonial masters began when the Indian troops mistakenly believed their rifle cartridges, which had to be bitten before use, were covered with cow or pig grease?

ANSWER: Sepoy Mutiny or First War of Independence (Indian name)

2A.  
What particles carry the electromagnetic force?

ANSWER:  photons

2B.  
THIS IS A COMPUTATION QUESTION. What is the formula, in slope-intercept form, of the line that runs through the point (-2, -11) and has a slope of 3?

ANSWER:  y = 3x - 5 (y equals 3x minus 5)

3A.  
In January, what company released more than 1600 patents to the Open Source community following the release of the source code for the 10th version of their Solaris operating system?

ANSWER: Sun Microsystems

3B. 
What theory advanced by M. King Hubbert asserts that the rate of oil extraction proceeds along a bell curve?

ANSWER: Hubbert peak theory (accept "peak oil")

4A.  
THIS IS A COMPUTATION QUESTION. Factor x squared minus 12x minus 45.

ANSWER:  x plus 3 and x minus 15
4B.  
What is the first-person singular, in the preterit tense, of the Spanish verb ser [SAIR]?

ANSWER: fui [FOO-ee or FWEE]

5A. 
 The Teapot Dome scandal was one of the major scandals of the Harding Administration. But in what state was Teapot Dome actually located?

ANSWER: Wyoming
5B.  
A Levite is a descendant of Levi. What term is used to describe the descendants of Aaron that read the Torah during synagogue services?

ANSWER: kohen or kohanim [KOH-hah-neem]

6A. 
In ancient Rome, how many women served as the Vestal Virgins at any one time?

ANSWER: six
6B.  
The year 1607 saw the debut of what opera by Claudio Monteverdi, based on Greek mythology surrounding the son of Calliope [kuh-LIE-oh-pee]?

ANSWER:  Orfeo (or-FAY-oh)

7A.  
Joseph Hachem is the reigning champion of what event, won in the past by Johnny Chan, Phil Hellmuth, and Chris Moneymaker?

ANSWER:  World Series of Poker
7B.  
Maltose and sucrose are what type of sugar?

ANSWER:  disaccharides

8A. 
THIS IS A COMPUTATION QUESTION. Convert 379 into a Roman numeral.

ANSWER:  CCCLXXIX
8B. 
THIS IS A COMPUTATION QUESTION. In the first five games of the NBA season, Shaq makes only 12 of 60 free throws, a situation that requires special training. How many of the next 60 free throws must he make to achieve a 35% percentage over the season?

ANSWER:  30
9A. 
Name the American writer and Klondike gold seeker who wrote The Son of the Wolf and "To Build a Fire."

ANSWER: Jack London
9B. 
Complete this Shakespearean quote:  "Those were my ____ days, when I was green with youth."

ANSWER: salad
10A. 
Name the Swedish chemist who is credited with the discovery of the elements chlorine, barium, tungsten, nitrogen, and manganese; was the first to determine the properties and composition of hydrogen cyanide as well as citric and oxalic acid; and independently discovered oxygen before Joseph Priestly.

ANSWER: Carl Wilhelm Scheele  (shay-luh)

10B. 
 What ICBM was deployed by the US in 1986 and was also known as the LG-118A Peacekeeper?

ANSWER: MX Missile

Third period, 15 toss-ups, 10 points each
1. 
This disease has four stages, and the fourth stage contains symptoms that are rarely seen outside sufferers, such as Kaposi's sarcoma. Fatigue, night sweats, chronic diarrhea, and swollen lymph nodes are symptoms of what STD caused by human immunodeficiency virus?

ANSWER:  AIDS or acquired immunodeficiency syndrome
2. 
 It is the name of a highly criticized book by Richard Hernstein and Charles Murray in which the role of intelligence in modern American society is discussed. It is also a method of grading where the highest score gets an A and the lowest score an F, regardless of the actual percentage scores. What term is also the shape of the function graph of a normal distribution, such as the sum of three dice being rolled?

ANSWER: bell curve
3. 
It was founded in 1905 as the undergraduate Institute for Musical Art. A graduate school was established in 1924 and named for a textile magnate who had bequeathed the school millions. In 1946, the undergraduate and graduate schools were merged and named for that magnate. Christopher Reeve, Philip Glass, Yitzhak Perlman and Yo-Yo Ma are all alumni of what school located in the Lincoln Center?

ANSWER: Julliard School 

4. 
Bloomers are named for Amelia Bloomer, who first wore them. A boycott is a name for a British army officer who was its first victim. What is the term for bloomer, boycott, and other things or places named for the person thought to be the source?

ANSWER: eponym
5. 
 Scientologists use tools such as E-meters in this practice to help members achieve a state of 'clear.' In the financial world, it is an evaluation of an organization's current and future financial status and financial practices. What is this term that also refers to the IRS wanting to take a closer look at an individual's taxes?

ANSWER: audit
6. 
For a number of years he served as a music teacher at St. Paul's Girls School in London, inspiring his "St. Paul's" and "Hammersmith" Suites.  He also composed several suites for brass band, as a medical condition led him to play the trombone as opposed to other instruments.  Name this composer, whose belief in astrology influenced his greatest work, The Planets.

ANSWER:  Gustav Holst
7. 
Some representatives of the Innu people are claiming this area of Canada for themselves, much as Nunavut was provided for the Inuit people. However, Quebec never revoked its initial claims for this area, which were supposedly resolved in 1927 by a British committee. What is this mainland portion of the Canadian province of Newfoundland, the namesake of a popular breed of retrievers?

ANSWER: Labrador (do not accept 'Lab')

8. 
How many hydrogen atoms are in a molecule of octane?

ANSWER:  18
9. 
Her 1944 Newbery Medal winning book is set during the American Revolution. Who is this author of Johnny Tremain?

ANSWER: Esther Forbes
10. 
It was patented by Douglas Engelbart as an "X-Y Position Indicator For A Display System." Bill English, a scientist for Xerox, replaced Engelbart's two gear wheels with a single ball that allowed movement in any direction. In 2005, Apple introduced one with more than one button. What are these computer peripherals that typically move a pointer around the screen in a graphical user interface?

ANSWER: computer mouse or mice
11. 
Two are tubal, two are lingual [LEEN-gwuhl], two are palatine, and one is pharyngeal [fah-rin-GHEE-uhl].  Name this term for the aggregates of lymphatic nodules in the throat that are frequently removed.

ANSWER:  tonsils

12. 
In Christopher Marlowe's play, Doctor Faustus, Lucifer and Beelzebub are two of the devils named. What is the third?

ANSWER: Mephistopheles (mef-iss-TOF-uh-leez)

13. 
THIS IS A COMPUTATION QUESTION. What is the product of the numbers 143 and 26?

ANSWER:  3,718
14. 
 Her father was King Thestius of Etolia [ee-TOH-lee-uh].  She married the King of Sparta, Tyndareus [tin-dar-EE-us], but Zeus came to her disguised as a swan, and she produced two eggs.  Name this mother of the twins Castor and Polydeuces (pol-ee-DOO-ceez) as well as the queens Clytemnestra and Helen.

ANSWER:  Leda
15. 
Three centuries of explorers tried, but failed, to cross it. In 1906 Roald Amundsen spent three years navigating its icy seas, bays and straits, marking the first-ever successful crossing. In 1985, a US icebreaker made the trip, annoying Canada, which claims that all its waters are Canadian. What is this sea route that connects the Atlantic and Pacific Oceans via the Arctic islands of Canada?

ANSWER: Northwest Passage
Spare questions 
Try to replace the question discarded with the spare question in a subject area – i.e. science for science, social studies for social studies, etc.) Be sure to mark off the questions as they are used.
1. 
K sub max equals hf minus phi is the equation for what phenomenon?

ANSWER:  photoelectric effect
2. 
This school's motto is in German and not Latin, and means 'The wind of freedom blows,' which is on the school seal surrounding a tree. It was founded in 1891 by a railroad magnate and politician in honor of his deceased son. What is this school near Palo Alto, California, best known for its rivalry with the University of California at Berkley?

ANSWER: The Leland Stanford, Junior University

3. 
This airline was known as Atlantic Coast Airlines between 1998 and 2003. It has attempted to emerge as a low-cost competitor to JetBlue and Southwest, but higher per-mile costs have doomed it to possible bankruptcy by the end of the year. What airline's parent company is FlyI, Inc.?

ANSWER: Independence Air

4. 
Spelled one way, it means to forgive, as in a debt or a fee. Spelled another, it can mean a hand signal in greeting or an ocean swell. What is this word?

ANSWER: waive or wave
5.
THIS IS A COMPUTATION QUESTION. What is the next term of the sequence whose first four terms are 0, 3, 8 and 15?

ANSWER:  _24_ (the sequence is x2 - 1)

All questions ©2005 by the question writers. Unauthorized use, as described on the first page of this document, is prohibited.

